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General Instructions:
1. All questions are compulsory, .
2. The question paper consists of 31 questions divided into four sections A, B, Cand D.
Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6 questions -
of 2 marks each; Section-C comprises of 10 questions of 3 marks each and Section-D
comprises of 11 questions of 4 marks each. i
3. There is no overall choice in this question paper. '
4. Use of calculator is not permitted. . -
WUS-31 [ SECTION-A
T HE 19 4 H YA w1 HF €
. Question numbers 1 to 4 carry one markeach. .
1 @ HIoT : 13332 — 74625 + 729. 1
Simplify : 13332 —74/625 + 3729. _ i
2 X2 =3y B UFESA Hiy | 1
FaCtOI_'ise:ﬁ—Sx- o - - ke i e e -y vrre g m—— — e e i s P —— — i # a cr S g
3 aft o fird e 31 TR Y A e Bl 8, w0 & e § g e O 6 2 t1
If a transversal intersects two parallel lines, then which of the pairs of anglesisequal? =
4 o T 1 A e i, e w10 em 3R 14 em €1 1

Find the area of a rhombus whose diagonals are 10 cm and 14 cm.

WS- / SECTION-B

T WEI 5 10 F TOF & 2 3w €

" Question numbers 5 to 10 carry two marks each.
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= 28@1’%?5!!11’%%11,331 pai’ltqwfa:%amq;oifl .
q
Express 28 in the form of £, where p and q are integers and q = 0. :
6 AR p(r) = ko —x ~15 F1 x—3 T TGS §, W k F1 7H T HITsQ 2
Find the value of k, if x—3isafactorof p(x) = k¥ =x =15, _
7 g aFh A, L1=,33R L2=24F1 | 12
| Tuise fR zA=2C

D
In the given figure, £1=/3 and £2=/4.

Show that: ZA=/C
B

8 'aABcaﬁﬁzéu@ﬁrﬁ’ ZABC=50° ¥ AC ®! D 7% =g/l 741 ¥ a41 DE||BA 76 W#R & f% 2

ZCDE=40° 1 £DCB T Hifee | ,:

E 4001]

c | |

A B
In the given figure of AABC, ZABC=50°, AC is extended to D and DE|BA such that

ZCDE=4(°. Find ZDCB.
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A

x - o H Af(js, _e) ¥ WA fig B & wv 4 omofn i wwn fR2
y - & ¥ fiig B &1 T sweifad wifg |

Plot reflection of A(3, —6) in x- axis as point B and then plot Lhe reflection of Biny - axis.
@m'ﬁ@ﬁmﬁwmm%mﬁmaHﬁﬂ&ﬁﬁﬁ@mm%l A F T w2
T & BT, TYH FHA T Do | |

The longest side of a right angled triangle is 125 m and one of the remaining two sides is 100 |
m. Find its area using Heron’s formula. ’
@ug-¥H [ SECTION-C

T e 119 209 wEE & 3 3%
Question numbers 11 to 20 carry three marks each.

i =) e Y W | — e s

Represent 4/4.5 on the number line. _ B B
. 1, 1 3
W BT +
B2 B2
1

e e Y
Slmplﬁy.-..\/g.l_ﬁ-l- JE-JE -----

B T

3 3 3
¥ [i} + [L) ~ [l) . , then find the value of x.
1000

10 5 2 o S :
- - == N 7 3
23 — b3 1 9 T FG, ‘qﬁ:a-—b=g%3ﬂ?ab=§ 2

7
Find the value of a® - b3,ifa—b= ; and ab= 3

e i e Yo i 6 gl 3 g O @ v A s 3
Prove that the bisectors of pairs of vertically opposite angles are in the same straight line.

& 7% et 4, [|jm & T firder Y n el 1 o m ) SRR HRI T AR L4 L5=11:7 3
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Imandh'ansversalninﬁersectslandm If 24 ;: £5= 11 : 7, find all the

In the given figure, 1

angles.
2 4
/7'/
645 o
f’a
3

1
17 fuxd, AABC F £BAC ¥ WHfEHIS AE & 951 ADLBC ¥ TigT & LDAE= = (£C—£B) &1

/AM
¢ DE B

In the figure of AABC, AE is the bisector of #BAC and ADL1BC. Show that ZDAE=

n

M=

(zc—za

VANN

18 ﬁﬁﬁ aABcamAABDwm‘EFﬁAD BC, /1=2
BD=AC €I

2 791 £3=24 ¥\ Tag =ifag & 3
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In the figure, AABC and AABD are such that AD=BC, £1=,2 and Z3=<4, Prove that
BD=AC,

19 'WAW%%ﬁg'X(—s,z)ﬁm@rﬁaﬁ' A FIC x-318 3R g2 F fiig X & wadS B 3
: mmaaﬂmamﬁmzY#ﬁzﬁwmrmmaﬁﬁwmz%mmw
AR |
On the graph paper, plot a point X(=3, 2). Plot reflections of point X in

x-axis and y-axis and denote these points by Y and Z respectively. Name the type of triangle
XYZ so formed. :

120 T A, ABCD W @ 8, R 6 m #1 1, Q, R R S F: AB, BC, CD AR DA ST 3
fiig €1 srifra &9 =1 e 3@ Fifvw
D R C

A B
In the figure, ABCD is a square of side 6m. P, Q, R and S are mid-points of AB, BC, CD and 3
DA respei'.'{tively. gind the area of the shaded region. "
D

A P B

WUZ-T / SECTION-D

W HEA 21 931§ URE & 4 3F F)
i Question numbers 21 to 31 carry four markseach. ———
2 qﬁx+%=«/§%,a’tx3+%ﬂ?mﬁa?f‘aaﬁl‘ﬁrm : |4
x i
Ifx + —1-=J§,evaluatex3+—1— i
x L ) ) o ) |
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Simplify : [JE]_% .Jy_‘l

o (5] % i 2
A T

23 paﬂtqﬁqﬁaﬁﬁﬁqmﬁx4+px3+2xz;3x+q

Find the values of p and g so that {(x+ 1) and (x—1) are factors o:fxf1 + px3 + 2x2 —3x+q

% TR p)=rt-1023 4292+ 12— 30 H qx) = x+1

ST ST A TE q(x) B Qofean Fasfo &1

Divide polynomial p(x) =x*—13x% +29x2 +12x—30 by q(x) =x+1. Also find what should be

subtracted from p(x) so that it s divisible by q(x).
25 RESEA (-0 + PP (@D
_ Factorise : (a2=b?)>+ (0> =)* + (Z—a?)?
2% g FRCF (x+ ) — -y = by b2 -y =8P %

27

*u

wmmﬁ,mﬁﬁmﬁ?ﬁﬁaﬁﬁ%mmﬁmmmmﬁ?ﬁﬁ@ﬁasw

C W o T €, S TR mﬁﬁﬁmw%nﬁmﬁ_ﬁwﬁm%wﬁwmm

%?Aﬁcmeﬁmm%?ﬁwmaﬁrﬁﬁaﬂWﬁmlwm'
e 1 fafaa) -

Prove that (x +y)3 — (x—y)>— 6y (2 -y2) =8y,

Three light house towers are mad
to protect animals from hunters a

light house towers ? How

which states the required result. Give one more Postulate.

o TEYH 8 Wawﬁﬁﬂwmﬂﬁaﬁwwﬁﬁaw@i% 4

28 wF a1 °r @Evel g

m@%w%ﬁmm%mﬁ?ﬁmm%l afrers = qem SR @ S F gl

2 gl ST qeT v WAR ¥, AT ARG

"A square is a polygon made up of four line segments, out o

equal to the length of fourth one and allits angles are right angles".

Using Euclid's Axiom/postu
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e at points A, B and Cin the national forest by the forest department
s shown in figure. Which value is department exhibiting by making |
many straight lines can be drawn from A to C ? State the Euclid Axiom

f which, length of three line segments are '
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29 *q’l‘ﬁ’aﬁﬁﬁ]ﬂ@afnpi[q'?l-_x'ﬁm_y%ﬂﬁéﬁﬁﬁﬁf e
q

j_' 30 fani A ABC T WAIRATE A &, fwed AB=AC 3t AE, ZCAD %1 gafawiiem & ¢l foa 4
| Hifee o AE || BC R

A

In figure; A ABC is an isosceles triangle in which AB=AC and AE bisects ZCAD. Prove that

AE[]BC
31 qasmé?aﬁr mwmﬁ%ﬂw ABsRCD TS ¥ (amgfa dfaw) |
% AF=CE®, T fog Ao fABE<FDE
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B ;
D

E F
Two equal pillars AB and CD are standin

If AF=CE, then prove that BE=FD, B S sitherlde of theiuadng shown in the figure,
C
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